














(A)300 (B)400 (C) 6500 (D)9500 (E)None of these

Q.1 :- If A:B:C = 7:3:8 and the difference between A and B is 7600 so find the difference 
between B and C ?
यदि A:B:C = 7:3:8 और A और B के बीच का अंतर 7600 है तो B और C के बीच का अंतर ज्ञात
कीदिए?



(A)142 (B) 144 (C)152 (D)148 (E)None of these

Q.2 :- The sum of three numbers is 294. The ratio between first number and second 
number is 2:3 respectively and ratio between second and third number is 5:8 respectively. 
What is the third number?
तीन संख्याओं का योग 294 है। पहली संख्याऔर िूसरी संख्या के बीचका अनुपात क्रमशः 2:3 
है और िूसरीऔर तीसरी संख्या के बीच का अनुपातक्रमशः 5:8 है। तीसरी संख्याक्या है?



(A)8:7 (B)3:4 (C)4:3 (D)7:8 (E)None of these

Q.3 :- Ratio of the earnings of A and B is 4: 7 respectively. If the earnings of A increase by 
50% and the earnings of B decrease by 25%, the new ratio of their earnings ?
A और B कीआयका अनुपात क्रमशः 4:7 है। यदि A कीआय में 50% की वृद्धि होती है और B की
आय में 25% की कमी होती है, तो उनकीआयका नया अनुपातक्या होगा?



(A)136 (B)150 (C) 169 (D)175 (E)None of these

Q.4 :- Brother A and B had some saving in the ratio 4:5. They decided to buy a gift for their 
sister, sharing the cost in the ratio 3:4, after they bought, A saves two-third of his amount 
while B is left with Rs. 145. Then the value of the gift is?
भाई A और B के पास 4:5 के अनुपात में कुछ बचत थी। उन्ोनें अपनी बहन के दलए एक उपहार
खरीिने का फैसला दकया, लागतको 3:4 के अनुपात में बांटते हुए, खरीिने के बाि, ए अपनी
रादश का िो-दतहाई बचाता है िबदक बी के पास 145 रुपये बचा है। तो उपहार का मूल्य है?



(A)300 (B)360 (C) 420 (D)490 (E)None of these

Q.5 :- Rs 1440 were distributed among A,B,C and D in such a way that C and D together 
gets half of what A and B together gets and C gets one third amount of B. Also D gets 5/3 
times as much as C. what is the amount of A?
1440 रुपये A,B,C और D के बीच इस प्रकार दवतररत दकए गए दक C और D को एकसाथ A और B 
को प्राप्त होने वाली रादश काआधा प्राप्त होता है और C को B की एक दतहाई रादश दमलती है।
साथ हीD को C से 5/3 गुना अदधक दमलता है। ए की रादशक्या है? 



(A)42 (B) 63 (C)70 (D)35 (E)None of these

Q.6 :- In a mixture ratio of milk and water is 7:5. 24 liter mixture is taken out and replaced 
with 7 liter water hence new ratio of milk and water in the mixture becomes 7:6. Find the 
initial quantity of milk in the mixture. (in liters)
एक दमश्रण में िूधऔर पानी का अनुपात 7:5 है। 24 लीटर दमश्रणको दनकालकर 7 लीटर पानी
से बिल दिया िाता है इसदलए दमश्रण में िूधऔर पानी का नया अनुपात 7:6 हो िाता है। दमश्रण
में िूध की प्रारंदभकमात्रा ज्ञात कीदिए। (लीटर में)



(A)9:15 (B)10:13 (C)16:9 (D) 15:22 (E) 21:17

Q.7 :- A person has a chemical of Rs. 50 per liter. In what ratio should water be mixed in 
that chemical, so that after selling the mixture at Rs. 40 per liter he may get a profit of 
25%?
एकव्यद्धि के पास 50 रुपये प्रदत लीटर का केदमकल है। उस रसायन में पानी दकसअनुपात में
दमलाना चादहए दक दमश्रणको 40 रुपये प्रदत लीटर पर बेचने पर उसे 25% का लाभ प्राप्त हो?



(A) 2 lakh (B)1.5 lakh (C)1.3lakh (D)1 lakh (E)None of these

Q.8 :- The cost of diamond varies directly as the square of its weight, once this diamond 
broke into 4 pieces with weight in ratio 1:2:3:4, If the pieces were sold, the dealer would get 
Rs.70,000 less. Find the original price of the diamond?
हीरे की कीमत सीधे उसके विन के वगग के रूप में दभन्न होती है, एक बार यह हीरा 1:2:3:4 के
अनुपात में विन के साथ 4 टुकडो ं में टूट िाता है, यदि टुकडे बेचे िाते हैं, तो डीलरको 70,000 
रुपये कम दमलेंगे। हीरे की वास्तदवककीमत ज्ञात कीदिए?



(A)14:13:7 (B)7:13:14 (C) 13:14:7 (D)3:2:5 (E)None of these

Q.9 :-The ratio of monthly salary of three persons X, Y and Z is 9:8:7 respectively and their 
expense ratio is 7:6:7 respectively, if the monthly saving of Z is half of monthly savings of X 
then the ratio of their savings Will be ?
तीनव्यद्धियोंX, Y और Z के मादसक वेतन का अनुपातक्रमशः 9:8:7 है और उनका व्ययअनुपात
क्रमशः 7:6:7 है, यदि Z की मादसक बचत X की मादसक बचतकीआधी है, तो उनका अनुपात
बचत होगी?



(A) 209 (B) 109 (C)119 (D)97 (E)None of these

Q.10 :- Chiku, Tipu and Pinku have some candies with each of them. Five times the number of candies with 
Pinku equals seven times the number of candies with Chiku while five times the number of candies with Chiku 
equals seven times the number of candies with Tipu. What is the minimum number of candies that can be there 
with all three of them put together?
चीकू, टीपू और दपंकू के पास प्रते्यक के पास कुछकैं डी हैं। दपंकू के साथ कैं डी की संख्या का पांच गुना चीकू के साथ
कैं डी की संख्या के सात गुना के बराबर है, िबदक चीकू के साथ कैं डी की संख्या का पांच गुना टीपू के साथ कैं डी की
संख्या के सात गुना के बराबर है। कैं डीि की नू्यनतम संख्याक्या है िो उन तीनो ं को एकसाथ रखने पर हो सकती
है?



(A)3:1 (B)4:1 (C) 3:2 (D)3:4 (E)None of these

Q.11:- In a class of 140 students, the ratio of the number of boys to that of girls is 3:4. The 
ratio of number of students who passed in a test to those who failed is 3:2. Among the boys, 
the ratio of the number of those passed to those who failed is 1:2. What is the ratio of the 
number of girls who passed to those who failed? 140 छात्रो ंकी एककक्षा में, लडकों की संख्या का
लडदकयो ं की संख्या से अनुपात 3:4 है। एक परीक्षा में उत्तीणग होने वाले छात्रो ं की संख्या का अनुत्तीणग होने वालो ं की
संख्या का अनुपात 3:2 है। लडकों में, उत्तीणग होने वालो ं की संख्या का अनुत्तीणग होने वालो ं की संख्या का अनुपात
1:2 है। उत्तीणग होने वाली लडदकयो ं की संख्या का अनुत्तीणग होने वालो ं से अनुपात दकतना है?



(A)1:1 (B)2:3 (C)1:3 (D)1:4 (E)None of these

Q.12 :-A stall sells popcorn and chips in packets of three sizes: large, super, and jumbo. The numbers of large, 
super, and jumbo packets in its stock are in the ratio 7:17:16 for popcorn and 6:15: 14 for chips. If the total 
number of popcorn packets in its stock is the same as that of chips packets, then the numbers of jumbo 
popcorn packets and jumbo chips packets are in the ratioएकस्टॉल तीनआकारो ं के पैकेटो ं में पॉपकॉनग और
दचप्स बेचता है: बडे, सुपरऔर िंबो। इसके स्टॉकमें बडे, सुपरऔर िंबो पैकेटो ं की संख्या पॉपकॉनग के दलए
7:17:16 और दचप्स के दलए 6:15:14 के अनुपात में है। यदि इसके स्टॉक में पॉपकॉनग के पैकेट की कुल संख्या दचप्स
के पैकेट के समान है, तो िंबो पॉपकॉनग पैकेटऔर िंबो दचप्स पैकेट की संख्या अनुपात में है



(A) 25.345% (B)28.125% (C)26.425% (D) 22.325% (E)None of these

Q.13 :- The expenses on education, travel and entertainment of a family are in the ratio 12: 
17:3. The value of these expenses are increased by 20%, 30% and 50% respectively. The 
total expenses of family are increased by how much percent?
एक पररवार की दशक्षा, यात्राऔर मनोरंिन परखचग 12:17:3 के अनुपात में है। इन खचों के
मूल्य में क्रमशः 20%, 30% और 50% की वृद्धिकी िाती है। पररवार के कुलखचग में दकतने
प्रदतशतकी वृद्धि हुई है?



(A)7:4 (B)7:3 (C)7:5 (D)3:7 (E)None of these

Q.14 :- The ratio of milk and water in a bottle A is 4:1 and in bottle B is 3:2. For bottle C, if 
someone takes equal quantity from A and B, find the ratio of milk to water in bottle C?
एक बोतल A में िूधऔर पानी का अनुपात 4:1 है और बोतल B में 3:2 है। बोतल C के दलए, यदि
कोईव्यद्धि A और B से समान मात्रा लेता है, तो बोतल C में िूध से पानी का अनुपात ज्ञात
कीदिए?



(A)21 (B)7 (C)6 (D)8 (E)None of these

Q.15 :- In a mixture of 126 liter, the ratio of milk and water is 4:3. If the ratio of milk and 
water is to be 6: 5, then the amount of water to be further added must be ?
126 लीटर के दमश्रण में िूधऔर पानी का अनुपात 4:3 है। यदि िूधऔर पानी का अनुपात 6:5 
होना है, तोऔर दकतना पानी दमलाना है?



(A) 135 (B)155 (C)145 (D)165 (E)124

Q.16 :- In an examination, the number of student passed was four times the number of 
students failed. If 35 student less appeared and 9 more had failed, then the ratio of passed 
and failed students would have been 2 : 1. Find the total number of appeared students?
एक परीक्षा में, उत्तीणग छात्रो ं की संख्या अनुत्तीणग छात्रो ंकी संख्या का चार गुना थी। यदि 35 छात्र
कम उपद्धथथत हुएऔर 9 अदधकअनुत्तीणग हुए, तो उत्तीणग और अनुत्तीणग छात्रो ंका अनुपात 2:1 
होता। उपद्धथथत छात्रो ंकी कुल संख्या ज्ञात कीदिए?



(A)540 (B)600 (C)480 (D)420 (E)None of these

Q.17 :- The ratio of income of A to B is 6: 7. A and B, combining their savings, decided to go 
to a restaurant, and divided the expenditure in the ratio of 4: 3, respectively. If B has spent 
140 rupees, which is 20% of its income, then what is the income of A?
A और B कीआयका अनुपात 6:7 है। A और B ने अपनी बचतको दमलाकर एक रेस्तरां में िाने
का फैसला दकयाऔरव्ययको क्रमशः 4:3 के अनुपात में दवभादित दकया। यदि B ने 140 रुपये
खचग दकए हैं, िो उसकीआयका 20% है, तो A कीआयक्या है?
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